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JIE 7. K 4 oUT IN G |HC NET 7= 2 NEVAR= dA,
1 KT A7 51 | 98 29.0 69.0
2 T 48 46 94| 24.0 70.0
3 VE[ETS = 51 50 101 31.0 70.0
4 KZE v 47 46 93| 22.0 71.0
5 JIEEF 50 45 95 24.0 71.0
6 A HYLRE 51 49 100 28.0 72.0
[BLETEAS 47 50 97 23.0 74.0
8 KAkt 47 51 | 98 24.0 74.0
9 EZEZ 55 47 102] 28.0 74.0
10 RHOE A 52 52 104 29.0 75.0
11 BREFAT 51 53 104 27.0 77.0
12 tRAIES 53 48 101 23.0 78.0
13 A% 50 53 | 103 25.0 78.0
14 FRACRIE 53 52 105 27.0 78.0
15 #F)II—HAB 53 54 107 27.0 80.0
16 #hHIEA 53 49 102] 21.0 81.0
17 A 57 51 108 27.0 81.0
18 [LIRE{R 50 53 103 21.0 82.0
19 ZRE 50 55 105 21.0 84.0
20 [LHEYE 52 55 107 23.0 84.0
21 FARER 49 59 108 24.0 84.0
22 JEHNLT 59 57 116 31.0 85.0
23 FHsg 59 57 116 30.0 86.0
24 WS HAE 72 57 129 34.0 95.0




